PartNo Description Rigid/QTY. REVISIONS
1601-121 Cable Steel 70.5 Length 1 REV. DESCRIPTION DATE APPROVED
1601-124 Thimble Eye Bare End 1 A Production Release 03/15/07 D.C.
1601-163 Cable Clamp 1/8 Dia Rope 2 B 1601-221 Bolt Eye 3/8-16 x 6 was 1601-225 Bolt Eye 3/8-16 x 7 07/29/15 D.C.
1601-265 Manual Installation Eloow RD 1 Drawing did not exist; Created New Drawing for an existing Product
Model 1601-610; 1601-357 was 1601-309; Removed 1601-221, 1601-
1601-357 Eloow Assembly Round - No LED ‘ C | 7126,1601-122 & 1601-127; 1601-163 2X was1601-123 2X (easier | 08/13/18 | TPham
installati dl t cable cl
1601-614 Arm Alum 6ft Assembly R-W Tape 2 installation and lower cost cable clamp)
2600-147 Spacer Steel .75 OD x .53 ID x .56 L 1
2615-181 Bolt Hex 1/2-13x 1.5 1
2616-441 Screw Self Tapping #8 x 3/4 Phil 8
2620-030 Washer 1/21D x 1 3/8 OD x 0.98 Th USS 2
2620-050 Lockwasher 1/2 1
2620-420 Nut Hex 1/2-13 1
DETAIL B
1601-357 SCALE 1:7
©

2620-030 2X

1601-121

2620-420
= \
QS 2616-441
1601-614 — 8X
2X

DETAIL A

SCALE 1:3

Note:

Install clamps so the
Saddle is on the long (live) End
and U Bolt is on the short (dead) End. Short (dead) End

Long (live) End

2620-050

A

DRAWN_[TPh
DATE 07/?9718 SIS Dﬁf’o?' 1601-610 [reviC

2600-147 = NAME | Folding Alum Arm Kit R-W Unlif | “EERE 11601-610

2615-181 PROPRIETARY&CONFIDENTIAL: The information contained in this drawing is the sole property of Doorking
Systems.Any reproduction in part or as a whole without written permission of Doorking Systems is prohibited.

DO NOT SCALE TO DRAWING | SHEETSIZE |A[scALE: 120 [SHEET 1 OF 1




